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(1) 10a +(—2)=—5a
3) (—8)—(—12)=(—8)+(+12)

—4
(5) (—36)=(—4)=+(36=4)
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(7 (—=19)+(—21)=—(19+21)
=—40
9 —4+3*+(-1)=—4+9-1

=9—4-1
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(11) Cx+5)4+Bx—7)=2x+5+3x—7
=(24+3)x+(b—-7)
=5r—2

(15) 6+3><(—5):6><%><<—5)
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<Zx+5>><12— 6x><12

9z + 60 =14z
— 5z =—60
xz=12
(19) 5z+2=-8
Sr=—8—2
S5z =—10

z=—2

(@) (—3)x5b = —15b
M)-%@x—l%%n%ﬂ2r+®=3x—6+4x+2
=Tx—14
6) (—5)%(—13)=+(5%13)
—65
1 1
8) {8z +20)— (9 +3) =2z + 63z — 1
=—x+5
10) (ma—8y+4=2*2‘8
_ 24a 8
~ +< 4>
=6a — 2
(12) (=7)+(+5)—(—=10)=—-7+5+10
—5+10—7
8
14) a+5 ><6:(a-|—5)><6
2 5
=(a+5)X%X3
=3a +15

(16) Bz —7)—(22—8)=32z—7—2x+8

=B8—=2)z+(—74+8)
=zx+1

(18) —5zx—13=3z+11

—5z —3x=11+13

—8xr=24

rz=-—3

(20) 0.6z —0.4=5 [iJIZ 10 275 T
(0.6 —0.4)x10=5x%x10
6z —4 =50
6z = 54
x=9
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